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QUESTION 1

A dual controller FAS3100 series is connected to a dual fabric with two active target ports per fabric in a singleimage
cfmode, and uses a single portset. 

What is the number of paths for ten LUNs on a single host with one connection to each fabric? 

A. 10 

B. 20 

C. 30 

D. 40 

E. 80 

Correct Answer: D 

 

QUESTION 2

Which parameter must the cluster administrator properly define when configuring an iSCSI logical interface in Data
ONTAP 8.1 Cluster-Mode and later? 

A. data-access 

B. data-address 

C. data-protocol 

D. data-routing 

E. No parameter needs to be defined as no additional parameter is required. 

Correct Answer: C 

 

QUESTION 3

Which statement is true about expanding an aggregate from 32-bit to 64-bit in place? 

A. All aggregates are automatically converted from 32-bit to 64-bit with the Data ONTAP 8.1 upgrade. 

B. The expansion is triggered by an aggr convert command. 

C. The expansion is triggered by adding disks to exceed 16 TB. 

D. The 32-bit aggregates are degraded and must be Volume SnapMirrored to a new 64-bit aggregates with Data
ONTAP 8.1 upgrade. 

Correct Answer: C 
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QUESTION 4

Which two choices are used to configure a semi-synchronous SnapMirror relationship? (Choose two.) 

A. throttle 

B. visibility interval 

C. outstanding=3s in DOT 7.2 

D. using option semi-sync in DOT 7.3 and higher 

Correct Answer: CD 

 

QUESTION 5

Which statement is correct regarding virtual machine alignment on VMware ESX? 

A. RDM LUNs do NOT suffer from alignment problems because they are accessed directly by VMs. 

B. A VMFS LUN with a LUN type of VMware, will always have properly aligned VMs. 

C. Alignment issues can occur on any protocol including FCP, iSCSI, FCoE, and NFS 

D. msinfo32 or mbrscan can be run for the ESX service console to check for proper alignment of VMs. 

Correct Answer: C 
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